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Question Number : 1 Question Id : 6154752512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

6154759801, 1
£154759802. 2
£1547598032 2
5154759804, 4

Question Number : 1 Question Id : 6154752512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154759801, 1
6154759802, 2
6154759803 3
61547593804, 4

Question Number : 2 Question Id : 6154752513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E154753805. 1
6154753806, 2
E1547535807. 3
E1547535808. 4

Question Number : 2 Question Id : 6154752513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154759805 1
6154759806, 2
6154759807, 3
£154759808. 4

Question Number : 3 Question Id : 6154752514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

154759809, 1
5154759810, 2
6154759811, 3
6154759812 4



Question Number : 3 Question Id : 6154752514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) (iv) 3 (v)
(4) (i1) 3 (iv)
Options:
6154759809, 1
6154759810, 2

E1547535811. 2
B1547535812 4

Question Number : 4 Question Id : 6154752515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list, which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) {(11) and (1v)

(4) {(111) and (v)

Options:

61547595813 1
6154759814 2
6154759815 3
6154759816 4

Question Number : 4 Question Id : 6154752515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Freferfaa = 0 | @ stfermrai-f=d 3um & gafud 27

() I (TH TS U AT U UH)
() R HRE SR
(i) wHH A HwE

(iv) W

(v) TS | (o HIH)

= feu o fasredi H & 98 3ot o =19 Fifs

(1) (@) 3 (i)
(@ (i) 3 (i)
(3) (i) 3 (iv)
4 (D) 3 (v)

Options:

6154759813 1
6154759814 2
6154759815 3
6154759816 4

Question Number : 5 Question Id : 6154752516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr

descriptive features. Match the two sets

Set I
(Evaluation system)
(a) Formative evaluation (1)
(b)  Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)
(v)

Set 11
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (€)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

515475358171
61547535818 2
E1547535819. 3
6154753520 4

Question Number : 5 Question Id : 6154752516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) {a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)

Options:

6154759817 1
£154759818. 2
6154759819, 2
5154759820, 4

Question Number : 6 Question Id : 6154752517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. cbzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
£154759821. 1
6154759822 2
6154759825 2
154759824 4

Question Number : 6 Question Id : 6154752517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154759821, 1
6154759822, 2

61547535822 3
E154753824. 4

Question Number : 7 Question Id : 6154752518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of their socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

615475358251
E154753826. 2
E154758827. 3
E154753828. 4

Question Number : 7 Question Id : 6154752518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547535825. 1
B154753826 2
6154753827 3
61547535828 4

Question Number : 8 Question Id : 6154752519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

E1547535829. 1
E1547535830 2
E154753821. 3
E1547535832. 4

Question Number : 8 Question Id : 6154752519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E154759829. 1
E1547535830 2
51547535821, 3
61547535832 4

Question Number : 9 Question Id : 6154752520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

E1547539853. 1
B1547535834 2
51547535835 3
61547535836 4

Question Number : 9 Question Id : 6154752520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154759833, 1
6154759834, 2

E1547535835 3
61547535356 4

Question Number : 10 Question Id : 6154752521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (11) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

515475358371
6154753838 2
61547535839 3
E1547535840 4

Question Number : 10 Question Id : 6154752521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547535837. 1
6154753838 2
E1547535839. 3
E1547535840 4

Question Number : 11 Question Id : 6154752522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E1547595841. 1
E1547535842 2
51547535843 3
6154753544 4

Question Number : 11 Question Id : 6154752522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

5154755958411
61547535842 2
61547535842 3
E1547595844. 4

Question Number : 12 Question Id : 6154752523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E1547589845. 1
E154753846. 2
B1547535847 3
51547535848, 4

Question Number : 12 Question Id : 6154752523 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547595845. 1



E154753846. 2
B1547535847 3
51547535848, 4

Question Number : 13 Question Id : 6154752524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

E15475358459 1
6154753850 2
E154753851. 3
E154753852. 4

Question Number : 13 Question Id : 6154752524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547535849. 1
6154753850 2
E154753851. 3
E154753852. 4

Question Number : 14 Question Id : 6154752525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) {c). (d) and (e) (4) (d). (e) and ()



Options:

6154759853 1
6154759854 2
£154759855 2
6154759856, 4

Question Number : 14 Question Id : 6154752525 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b) 3T (c) (2) (). (c) 3 (d)
(3) (c). (d) 3T (e) (4)  (d). (e) 3T ()
Options:

E1547589853. 1
E154753854 2
E154753855 3
51547535856, 4

Question Number : 15 Question Id : 6154752526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (A)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



E154753857. 1
6154753858 2
5154753859 3
6154753860, 4

Question Number : 15 Question Id : 6154752526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154759857, 1
5154759858, 2
6154759859 3
6154759860, 4

Question Number : 16 Question Id : 6154752527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

E1547535861. 1
6154753862, 2
E154753863. 3
E1547535864. 4

Question Number : 16 Question Id : 6154752527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6,14

(3) 15, 35 (4) 24, 56
Options:
6154753861,
6154759862,

61547535863,
E1547535864,

B R

Question Number : 17 Question Id : 6154752528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The number X in the following series :

3.8,18,38. X, ...is

(1) 78 (2) 80
(3) 76 (4) T4
Options:

E1547535865. 1
6154753866, 2
E154753867. 3
E1547535868. 4

Question Number : 17 Question Id : 6154752528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafeAfigd sIgFa 0 X 2 -
3.8,18, 38, X, _..

(1) 78 2y 80

(3) 76 (4) 74
Options:
6154753865,
6154759866,

E154753867.
E154753868.

e IR

Question Number : 18 Question Id : 6154752529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ' SOLUTION" 18 RSKTSHASM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5HLH
Options:

E1547535869. 1
61547535870 2
E1547585871. 3
E154753872 4

Question Number : 18 Question Id : 6154752529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ & F=ffiga § & 9 =9 4 Tomar smom ?

(1) BQ5/HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options:

E1547535869. 1
61547535870 2
E154753871. 3
E154753872 4

Question Number : 19 Question Id : 6154752530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

E1547535873. 1
B154753874 2
61547535875 3
E1547535876. 4

Question Number : 19 Question Id : 6154752530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E1547535873. 1
E154753874 2
61547535875 3
E1547535876. 4

Question Number : 20 Question Id : 6154752531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2y 10%
(3) 11% (4) 12%
Options:

B1547535877. 1
61547535878 2
E1547535879 3
E1547535880. 4

Question Number : 20 Question Id : 6154752531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

B1547535877. 1
61547535878 2
61547535879 3
E154753880. 4

Question Number : 21 Question Id : 6154752532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

51547535881, 1
6154753882 2
61547535882 3
E154753884. 4

Question Number : 21 Question Id : 6154752532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidarel = feafd =0 avaa § gieed O Al e 31 SEREETd 5 9 ° g9E T
1 °1 33 F41 FEl A1 27

(1)  3TIH=H Ug S (2) 7 Ig g
(3)  WTYH-eH Ug EHm (4) T
Options:

E1547589881. 1
E154753882. 2
E154753883. 3
51547535884, 4

Question Number : 22 Question Id : 6154752533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E1547539885. 1
E154753886. 2
B154753887. 3
61547535888 4

Question Number : 22 Question Id : 6154752533 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E1547539885. 1
6154753886, 2
E154753887. 3
E1547535888. 4

Question Number : 23 Question Id : 6154752534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E1547539889. 1
E1547535890. 2
51547535891 3
E1547535832. 4

Question Number : 23 Question Id : 6154752534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TTET AT A5 HrEE AN UA SIEE Fi i § Feiatad § O e g O getag 27

(1)  dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E1547535889. 1
E1547595890 2
E154753891. 3
E1547535892 4

Question Number : 24 Question Id : 6154752535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

E1547535832. 1
61547535894 2
E154753895 3
E1547535896. 4

Question Number : 24 Question Id : 6154752535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTiEd ¥ ¥ :H-T1 [@%ed To9% A 9arsd ) [Gemeal O Jdidd 2 9 29 od J [4iia 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27
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Options:

6154759893 1
£154759894 2
£154759895 2
6154759896, 4

Question Number : 25 Question Id : 6154752536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

E1547535837. 1
61547535898 2
E154753899 3
E154753300. 4

Question Number : 25 Question Id : 6154752536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gN1 99 #| O fFH

(1) AT T [y iz = ok
(3)  ETa® a= (4)  AITEAHF 95
Options:

515475358571
61547535838 2
E1547535899 3
6154753300, 4

Sub-Section Number: 2
Sub-Section 1d: 615475113
Question Shuffling Allowed : Yes

Question Id : 6154752537 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 6154752538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E154753301. 1
B154753302 2
5154753303 3
6154753304, 4

Question Number : 27 Question Id : 6154752539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E15475393905 1
6154753306, 2
6154753307, 3
E154753308. 4

Question Number : 28 Question Id : 6154752540 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E154759305. 1
6154753310 2
6154753311 3
E15475331% 4

Question Number : 29 Question Id : 6154752541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

6154759312 1
E1547533914 2
E1547533915 3
5154753316 4

Question Number : 30 Question Id : 6154752542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

E1547593917. 1
5154753318 2
51547533159 3
61547533920 4

Question Id : 6154752537 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fofaigd difesn § Aty gmnigy =vas 99 9o SARA1 51 9ideddr 91 T 2
Atz o T S 5 S Sae 99a 9 SEa B FE 9= 12,00,000 2, G A1 WOSATEIE
Fafaiad 9941 =1 391 29y :

T Ao Jeqea-£f ST TE

TTel SATRAT =l W]
C++ 15%
C 25%
FIETA 12%
TEH 13%
iG] 15%
A AR UH b 10%
qr2Et 10%

Sub questions

Question Number : 26 Question Id : 6154752538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (Z2) b5:3
(3) gl (4 b5:2
Options:

51547533011
6154753302 2
E154753303. 3
E1547593904, 4

Question Number : 27 Question Id : 6154752539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E15475393905 1
6154753306, 2
6154753307, 3
E154753308. 4

Question Number : 28 Question Id : 6154752540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. 9T 31 FE o de A dTe] SRl il Fd T 1

(1) 4.80.000 (2) 5.04.000
(3) 2.16.000 (4) 6.24.000
Options:

E154759305. 1
6154753310 2
5154753311 3
E15475331% 4

Question Number : 29 Question Id : 6154752541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2, U 312 U 17 37 = ST Svd i FEEET W@ 9 d S S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

6154759312 1
E1547533914 2
E1547533915 3
5154753316 4

Question Number : 30 Question Id : 6154752542 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E1547593917. 1
5154753318 2
51547533159 3
61547533920 4

Sub-Section Number: 3
Sub-Section 1d: 615475114
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154752543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {(a). (c). (b)

Options:

6154759921 1
6154759922 2
6154759923 3
6154759924 4

Question Number : 31 Question Id : 6154752543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFeferfag ey feasd w T=9r fifw
(a) B feF
by HSum

(c) 29T 2 1A

3= OUET gudl & SARE FA °§ srafyd e ok ud et FHu

(1) (). (0. (@
(2 (). (). (@
3 (o) (b). (a)
4)  (a).(c), (b)

Options:

61547599211
6154759922, 2
6154759923 2
6154759924 4

Question Number : 32 Question Id : 6154752544 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:
6154759925 1

E1547533926 2
E154753927 3
B1547533928. 4

Question Number : 32 Question Id : 6154752544 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafefigd @ T +9 o1 =70 SR 999 9= & 99 & e ghgs v o1 O geEa 1 aer e

o 9 27
(1) é—‘l Saled

(2) s

s

(3) AT THIG

(4) T

Options:

6154759925 1
6154759926, 2
6154759927 3
£154759928. 4

Question Number : 33 Question Id : 6154752545 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
6154759929 1



E1547533920 2
61547533931 3
51547533932 4

Question Number : 33 Question Id : 6154752545 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Teigd § d i |1 3-Hel o Hed § 390 ¢ 7

(3)

(4)

Options:

7 FJE H2as WIS T UE 0 2
TE FAT=d HAWl I 9 WO 2 Ol 8
-1t gor 7T 9T e 2

211 7q T S T 9 BT 2

5154759925 1
6154753330 2
61547533931, 3
E1547533932 4

Question Number : 34 Question Id : 6154752546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

(a)

(b)

(c)

(d)

List I
(E-1nitiatives)
Vidwan
Digilocker
Sakshat

Shodh Ganga

(1)

(11)

(111)

(1v)

Last IT
(Descriptions)

Repository for full-text thesis. e-books
and journals

Education portal to facilitate learning

Databasze of

rezearchers

leading  scientists/

Platform for issuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(a)-(111). (b)-(1v). (c)-(11). (d)-(2)
(a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(1). (e)-(11). (d)-(1v)

E1547593953. 1



E1547539234 2
51547533935 3
51547533956, 4

Question Number : 34 Question Id : 6154752546 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

-1 %1 GEi-11 = 319 AT Hig
T=i-1
(3-afvrzFm)
(a) r'a- gl
by TEEdE=
(c)  HIEE
(d) IIg T
= 20 0 foeT 3 4 O8 S 90

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

£1547599232 1
6154759924 2
6154759935 2
5154759936, 4

(1)

{11)

I

(feramo)
q0 o WY e, -g99 AT SHed W
BEL

(ii1) S SR /T T SEeE

{(1v)

Question Number : 35 Question Id : 6154752547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
61547599371



E154753938. 2
515475339359 3
5154753340, 4

Question Number : 35 Question Id : 6154752547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT § Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =34 ggE]
(3) =2 g g uHdi

(4) 22 79 T OO

Options:

6154759937 1
£154759938. 2
5154759929 2
5154759940, 4

Question Number : 36 Question Id : 6154752548 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

6154759941 1
6154759942 2
6154759943 3
5154759944 4

Question Number : 36 Question Id : 6154752548 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) I TETEE B

Options:
£1547595941 1

E154759942 2
E1547533943 3
E1547533944 4

Question Number : 37 Question Id : 6154752549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local 1n nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4) (1). (11). (1) and (1v)
Options:

E1547593945 1
E1547593946 2
51547533947 3
6154753345 4

Question Number : 37 Question Id : 6154752549 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafga § 4 31 w=iawiE g2 it ve9m Fifae 91 =T 55a % 2

2.

(1) AT T T &0
(11) e TgHv

i) gEw

(iv)  Foar Jiadd
(v) AR

(vi) B 398 Ja9H

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 37T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

515475593945 1
6154753345 2
6154753347 3
6154753345 4

Question Number : 38 Question Id : 6154752550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E154759945 1
6154753350 2
6154753351 3
E154753352. 4

Question Number : 38 Question Id : 6154752550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFm oo Ty Auieq /gt 90§ auofig fasm OiFE wrEn (9 3 TEE wH
T2 ae SaeTHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh =
(3)  FEge gmg (4) ITEHITETE F5E
Options:

6154759349 1
E1547533950 2
5154753351 3



E1547533952 4

Question Number : 39 Question Id : 6154752551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

E1547593953. 1
51547533954 2
5154753355 3
E154753356. 4

Question Number : 39 Question Id : 6154752551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g § § FH-51 9% T909 Foard Tadq e 99 (3 U9 O O @ ) F 359 1 i
27
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(3)  WAGA 9F TIHE HAT

(4) TSI IE0 gRT SEa FEAENAT AR i s aan e

Options:

6154759953 1
5154759954 2
6154759955 3
6154759956, 4

Question Number : 40 Question Id : 6154752552 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

51547533571
6154753358 2
61547533959 3
E154759360. 4



Question Number : 40 Question Id : 6154752552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FAN T F A T Tavasad AUl 31T FEaTE T Sicdied #4 od J W 3 N Feated 5 5
8 fawg = vfa faga m=Ew 3w (2019) 5 39@ w9 e
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(3) A WgHW #I THA™ (4) ¥ =

Options:

E1547593957. 1
6154753358 2
6154753359 3
6154753360, 4

Question Number : 41 Question Id : 6154752553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E154759961. 1
61547533962 2
B154753363. 3
E154753364. 4

Question Number : 41 Question Id : 6154752553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fFa w=in g fvafaes =1 3 o oF e 8 3= 3 Tl ol 5 g #3
% T9 H A1 A1 8 7

(1) Tee favaia==g (2) Tafren fEvata=
(3)  Ariean favateEa (4) Tz favafarem
Options:

BE1547533961. 1
61547533962 2
E154753362. 3
61547533964 4

Question Number : 42 Question Id : 6154752554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2} (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

E1547533965. 1
61547533966, 2
E154753367. 3
61547533965 4

Question Number : 42 Question Id : 6154752554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefcIfigd § 4 #H U 98 T-TR9 A FEERl F g2 a7
(i) @1 gmfer
(11) =4 919
(iii) 797 JEEH
(1v) AUed-fagH
(v)  JoHTHF 9

FATeEd el § 8 A7 39 3

(1) (1), (i) 37 (v (2) (1), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 3 ()
Options:

E1547539365. 1
E154753366. 2
E1547593967. 3
E1547533968. 4

Question Number : 43 Question Id : 6154752555 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
1547599659 1
£154759970 2
154759971 2
154759972, 4

Question Number : 43 Question Id : 6154752555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE T f91em 9fmg (v ©i & 2)

(2) AR Aaaeaal I09s (3 o1 =18)

(3)  OWAE T9EE 9 (AW i AE)

(4) o 1:1;~:|‘|$,:| R goar9q 9fg (U9 U U i)
Options:
£154759969, 1
£154759970. 2

61547533971 3
6154753972 4

Question Number : 44 Question Id : 6154752556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of yvoga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

6154759973 1

6154759974 2

6154759975 3

1547595976 4

Question Number : 44 Question Id : 6154752556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FATTF- T80 WSl H AT i Wih w4 1 Efaigs 8§ @ w5 9 snem 20
(1) ¥ forem fifd-1968
(2) e foren fifa-19386
(3)  WRA H e faew i wfasy gfe, qoemn dw s wfde-2012
(4) T foiEm Hid-2019 F1 9
Options:
6154759973 1
E1547595974 2

E1547533975 3
E154753976 4

Question Number : 45 Question Id : 6154752557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E1547593977. 1
E154753978 2
B15475339759 3
E154753380. 4

Question Number : 45 Question Id : 6154752557 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3= T9e & 3 datya Aifg s mam = G o + vee 991 & wEE #+7

(i) I Frerar =i =
(i)  TafEmEE 93 ° gan
(i) FHEATSAT 377 e higd g SHEE # TEid T

(iv) 9 Tl 1 "5
(v)  TEE T qidsE

Fefeafiad fasedi § O 3191 390 9

(1) (1), (i1) 37T (1ii) (2) (i), (ii1) 3R (iv)
(3) (ii1). (iv) 3T (v) (4) (1), (1) 371 (i)
Options:

B1547533977. 1
6154753378 2
6154753979 3
E154753980. 4

Sub-Section Number: 4
Sub-Section Id: 615475115
Question Shuffling Allowed : Yes

Question Id : 6154752558 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating demoecratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154752559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E154759981. 1
B154753982 2
51547533983 3
61547533954 4

Question Number : 47 Question Id : 6154752560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

51547533985 1
61547533986 2
6154753957, 3
E154753988. 4

Question Number : 48 Question Id : 6154752561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

E1547539389. 1
6154753930, 2
E154753991. 3
E154753992 4

Question Number : 49 Question Id : 6154752562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E1547599583 1
E154753994 2
51547533995 3
51547533996, 4



Question Number : 50 Question Id : 6154752563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

6154759997 1

154759995 2

61547599939 3

1547510000, 4

Question Id : 6154752558 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T : 46 H 50

gz TeHIaF g TH 9199 2 999 A, SAEei, THds i1 S9F 9 g CAmwaq
9 SiqTIE d9a g1 TR 320 A SoAEd: WA UAE % Sad ° 9TH 92 g4 21 A Tk 5
ard H T F@ 20 91 A1 Fad & Tdide 21 A0 THH1GH S8R0 W@ 91 A7 F6 928 T TSI
AN TgE F1 F3 T, 91 300 TAHEd 92 - 99 20 Aad #ed o, 9d: 99N THE T Aad ¢
- “UMAHEETE AR FeiE HdEd 3 ST F 2a™ [Gvgd B9 0 TaHidE 99 S 2.
T &+ =0 AT AR ] TGS AT 9frd #3429 WA Tl g0l 2d 2
AT T H TeHIG® 3=aE 1 2@l ¢4 % o0 20 SidEAEs S50 T O9E 4 ¢l W
el <4 #E “Uidfatac” = faan & Fom= =21 2, 91 Ifdsdr 0 T=9E O =0+ Oy Ofaass 1 T8
AN 2| T THATR T2 T2E G 2 - U A Tty ® s g u wen g F T 2 2 o sme
gfafafaea *dt 8 37 I8 @l AT % Rl | 9 SAudEeE F Tfas ataeies e 0 o
ESA A =] A1 F 91 U SAE % Aged H 9 F] T qs SATE9aRdal 2l 2

Sub questions

Question Number : 46 Question Id : 6154752559 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AraaEd T (2) T F A9E
(3)  ifama fams (4) FfaHTEHARAT
Options:

515475939811
61547533982 2
6154753952 3
E154759984. 4



Question Number : 47 Question Id : 6154752560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHTEa F R0 R 0 O =60 1 329 23717

(1)  TH &+ AHaa (2) 32N AHaa
(3) AV TaE ATFAE (4) Tgifa® AFad
Options:

61547593955, 1
E154759986, 2
E154753987. 3
51547533988, 4

Question Number : 48 Question Id : 6154752561 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) TEEHE T ==
(3) TSI wE (4) AH-Ta=ITH =deEn
Options:

E1547599859. 1
B154753990 2
51547533991 3
6154753932 4

Question Number : 49 Question Id : 6154752562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
%  ITER Add F a9 F1 fF =9 1 JEr 9 22

(1) Fifq e T (2) wldHTaE $i s=ar
(3)  lafeens qiE (4) F@ AM % [GER] I G990 Y5 FAT
Options:

6154759992 1
E154759984 2
E154753995 3
B1547533996. 4

Question Number : 50 Question Id : 6154752563 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



UiafAfaae Sad % a9 § oi@® #1340 9= 27

(1)  Tafas 3 3=
(2) OqET grfier
(3) T4HTT 9419

(4)  F3 ATHAL F 21 ° 1 T g 150

Options:
6154759997 1
6154759998 2
6154759999 2
E1547510000. 4

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section I1d:
Question Shuffling Allowed :

Question Number : 51 Question Id : 6154752564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Prof. Nazir Ahmad was born at

am
(1) ,-::.ffr/n_,%
b
3 e/ Lfﬁ;
Options:

61547510001, 1
E154751000Z. 2
E1547510003. 3
E1547510004. 4

Question Number : 51 Question Id : 6154752564 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FPART Il Persian

61547536
2

Online
Mandatory
92

92

200

Yes

No

1
615475116
Yes

%
lr_q{
(4) ,_,f; -

MCQ Option Shuffling: No Display Question Number : Yes



Prof. Nazir Ahmad was born at

(1) 27 & ¥

] .ok
(3) a-,-«:.)"u‘éf @ f A
Options:

61547510001, 1
E154751000Z. 2
E1547510003. 3
E1547510004. 4

Question Number : 52 Question Id : 6154752565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A number of Persian translations of Sanskrit works were edited by

(1) L,Cafl;’\‘f,_/fr;!;};‘:, 2 I/ )T
(3) :;:)fgf‘uﬁl? (4) @"j;br
Options:

E1547510005. 1
61547510006, 2
61547510007, 3
E15475100038. 4

Question Number : 52 Question Id : 6154752565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A number of Persian translations of Sanskrit works were edited by

(1) Lsél’\')]f-'-"“”!ﬂ: @ Al ki
(3) }Jﬂj'r,«:ﬂruﬁw (4) @'/ﬂ;:l:,r
Options:

61547510005, 1
E1547510006, 2
B1547510007. 3
515475100038, 4

Question Number : 53 Question Id : 6154752566 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



The rhyme changes from couplet to couplet in

(1) LS!'V. (2) r.g"""’

T3

3 & @ b

Options:

61547510009, 1
61547510010, 2
61547510011, 2
61547510012 4

Question Number : 53 Question Id : 6154752566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The rhyme changes from couplet to couplet in

(1) d;‘i"

Lo

o

=1
=3

T3

3 & @ b

Options:

61547510009, 1
61547510010, 2
61547510011, 2
61547510012 4

Question Number : 54 Question Id : 6154752567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A polite request made for favour is

;:‘; -
L Y (2) ..yf
(3) Jur; (4) E}”p?
Options:

615475100121
E1547510014. 2
51547510015 3
B1547510016. 4

Question Number : 54 Question Id : 6154752567 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A polite request made for favour is

5 4
L Y (2) ..yf‘u

(3) Jvr; (4) G}”J:}

Options:
615475100121

E1547510014. 2
E1547510015 3
B1547510016. 4

Question Number : 55 Question Id : 6154752568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gjm:"xLﬁ’ edited

1) S arbis @ Nzl F sy an s
3  LAFITEs bis @) sty
Options:

E1547510017. 1
615475100158, 2
615475100143, 3
E1547510020. 4

Question Number : 55 Question Id : 6154752568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

&M’“’JU’ edited

—

1) Sl (2) L;)f,:fﬁ_“}}:« Ly
3  ATITEs b @) sy arlis
Options:

61547510017, 1
61547510015, 2
E1547510013. 3
B1547510020. 4

Question Number : 56 Question Id : 6154752569 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2| is a poetic collection of

® Olriet® w 17 Es)

Options:

61547510021, 1
61547510022 2
61547510022 2
1547510024 4

Question Number : 56 Question Id : 6154752569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- | is a poetic collection of

(3) JWJ:{ @ o7 s )

Options:

1547510021, 1
61547510022 2
61547510023 =
61547510024, 4

Question Number : 57 Question Id : 6154752570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Mehmud Shirani is buried at

1 .4l @ o
b
(3) — Y (4) %

ey
-

Options:

61547510025, 1
61547510026 2
1547510027, 5
61547510028, 4



Question Number : 57 Question Id : 6154752570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mehmud Shirani is buried at

I 2= @ W
b

(3) - Y 4) .

Options:

51547510025, 1
61547510026, 2
E1547510027. 3
E1547510025. 4

Question Number : 58 Question Id : 6154752571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

:,.)31 was written by :
(1) LS.? f o e (2) QWWUM

(3) Lﬁif,/:?*t},f 4) LEJJ""H;"'*_,:.”

Options:

61547510029, 1
61547510030 2
61547510021, 2
1547510022 4

Question Number : 58 Question Id : 6154752571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

:,.)31 was written by :
QO Sz F (2) ;;)U"w‘::’/

(3) d;r;‘;éf (4) LEJJ’T:{/-}_/;_”

Options:
61547510029, 1
61547510030 2



E1547510021. 3
B1547510032. 4

Question Number : 59 Question Id : 6154752572 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=~
Cf 3 L,f 1s the imitation of the famous Mathnavi of LS i’ LZ; LE)
Qv ANY7 2) /.g-.;w

. -
3) 2L~ (4) b

Options:

61547510033, 1
61547510034, 2
61547510035 =2
15475100326 4

Question Number : 59 Question Id : 6154752572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=~
{_‘f 3 L,,j' 1s the imitation of the famous Mathnavi of LS i’ L,‘; &}
(1) JI'_/;-‘UI'L')% (2) g‘-:.ﬁ"

Ll " .-""{
@ AL 4)  Alia*]
Options:
61547510033, 1
£1547510034. 2
£1547510035. 3

B1547510036. 4

Question Number : 60 Question Id : 6154752573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



P
e

ur’ AN | sz J A% was a contemporary of

@ I @ 4L

Options:

61547510037, 1
615475100328 2
61547510029, 5
61547510040 4

Question Number : 60 Question Id : 6154752573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

P
i

s_‘,ar‘ £ |L‘»".Jﬁ?. was a contemporary of
2. ‘
(1) Jl7 @ Gl .

@ 4 @ 4l

Options:

61547510037, 1
1547510028 2
61547510029, 5
61547510040 4

Question Number : 61 Question Id : 6154752574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

11 Lsyjultw: &l +*1J ' is the representative of :
L
¢ M.ﬂ @ «J L-«C
"y . 3

Options:
61547510041, 1
61547510042 2



E1547510043. 3
51547510044, 4

Question Number : 61 Question Id : 6154752574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

11, LEP:JJ:J:;:EUT 4% 1) ' is the representative of :

ek @ =Jilk
(3) Cjbf,ﬁ.ﬂ (4 Srf?.ﬂ

Options:

51547510041, 1
61547510042 2
61547510043 =
61547510044 4

Question Number : 62 Question Id : 6154752575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

L'LL#L« has been translated into Persian by :

L]

‘

1 LI @ O anlF 1

e L

@ b’ @ by

Options:

51547510045, 1
61547510046, 2
61547510047, =
61547510048 4

Question Number : 62 Question Id : 6154752575 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



L'LL‘LJ has been translated into Persian by :
. | -
1 LAl @)  Oflanla” e

@ b @ kol

Options:

61547510045, 1
61547510046 2
61547510047 2
61547510043, 4

Question Number : 63 Question Id : 6154752576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jlr"'”fv J 1s a book on :

(1) Nt o (2) éJL"
3 I @ b
Options:

E1547510043. 1
E1547510050. 2
51547510051, 3
61547510052, 4

Question Number : 63 Question Id : 6154752576 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

;L-"'”g_, J 1s a book on :

1) (2) é;[.“
3  J® @ b
Options:

51547510045 1
E1547510050. 2
E1547510051. 5



E1547510052. 4

Question Number : 64 Question Id : 6154752577 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LE .Af’j was a court poet of :

1 Ofy @ G

s
3 b @ Okl
Options:

51547510053, 1
61547510054, 2
61547510055, 3
61547510056, 4

Question Number : 64 Question Id : 6154752577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

LS .A:?/; was a court poet of :

1 G4y @ O

"
3 b @ oLl
Options:

E1547510053. 1
51547510054, 2
51547510055, 3
E1547510056. 4

Question Number : 65 Question Id : 6154752578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



L,';/i!“' belonged to :

Q2 @

"

@ ¢ @ JLsl

Options:

61547510057, 1
61547510058, 2
61547510059 =
61547510060, 4

Question Number : 65 Question Id : 6154752578 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

L,Eﬁ!"' belonged to :

Q2 @ JL
3 b @ Ll
Options:

61547510057, 1
61547510058, 2
E1547510059. 3
E1547510060. 4

Question Number : 66 Question Id : 6154752579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Great Persian Sufi Poet was :

(1 v @ a7
@ O @ ¢
Options:

61547510081, 1
E1547510062. 2
B1547510063. 3



E1547510064. 4

Question Number : 66 Question Id : 6154752579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Great Persian Sufi Poet was :

(1 v @ a7

23 g
3 O @ O
Options:

E1547510061. 1
E1547510062. 2
B1547510063. 3
51547510064, 4

Question Number : 67 Question Id : 6154752580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

This couplet belongs to :

w3 i d e
OF & b S ul:

Ole & 3 G 1p 2L S

’ . =2

y L4y @ (8

3 C @

Options:

61547510065, 1
61547510066, 2
15475100687, 5
61547510068, 4

Question Number : 67 Question Id : 6154752580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



This couplet belongs to :

®» g @ &/
(3) Lﬁh;'l' (4) dﬁ’

Options:

51547510065, 1
61547510066, 2
61547510067, =
15475100688, 4

Question Number : 68 Question Id : 6154752581 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

? L3
( / was the contemporary of :

(1) l-‘L-:’ o 2) MF
@ Ob @
Options:

E1547510063. 1
B1547510070. 2
61547510071, 3
E154751007Z2. 4

Question Number : 68 Question Id : 6154752581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

% i
O / was the contemporary of :
(1) l-*‘f’/ (2) &

@ Ob @

Options:



E1547510063. 1
B1547510070. 2
61547510071, 3
E154751007Z2. 4

Question Number : 69 Question Id : 6154752582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Earlier India had common borders with

(1) ;,Jb'/g?.b‘ @

(3) ;_:,'t‘f‘i-ﬂ @ s

Options:

1547510073, 1
E1547510074. 2
61547510075 5
61547510076, 4

Question Number : 69 Question Id : 6154752582 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Earlier India had common borders with

(1) ;_-,,It:/g’.t* @ e

(3) ;_:,"L?‘f‘éjf @ Gl

Options:

61547510073, 1
61547510074 2
61547510075 =
1547510076 4

Question Number : 70 Question Id : 6154752583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Liu “3 bJLJ.}_’: v stayed in Iran for

G @ @ Jb
3  Jbo 4) J‘«mlﬁ
Options:

61547510077, 1
E1547510075. 2
E1547510073. 3
51547510020, 4

Question Number : 70 Question Id : 6154752583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Lj;!f" ’ bJLVI:': Lr stayed in Iran for

(1) JLJE (2) uILH;:
(3) JL,_, 4) ;_,!Lf::.;l{i
Options:

B1547510077. 1
61547510078, 2
61547510073, 3
E1547510050. 4

Question Number : 71 Question Id : 6154752584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Nizami Ganjavi is buried in
e
QS @ Lk

3 izl @ OB

Options:

61547510081, 1
61547510082, 2
61547510082 2
1547510024, 4



Question Number : 71 Question Id : 6154752584 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Nizami Ganjavi is buried in
o
D JES @ sl

(3) Iz (4) L;'L'?Ujl'

Options:
15475100581, 1

E1547510082. 2
B1547510083. 3
51547510054, 4

Question Number : 72 Question Id : 6154752585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Capital of the Samanid’s was

1 L 2 £F

3 <l @ L F

Options:

61547510085, 1
61547510086, 2
1547510087, 2
61547510088, 4

Question Number : 72 Question Id : 6154752585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Capital of the Samanid’s was

1 L& 2 SAF

(3) ._"..rf,-f’ @) ¢ F

Options:

1547510085, 1
61547510086, 2
61547510087, =
61547510038, 4



Question Number : 73 Question Id : 6154752586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬂ‘?r{_}ﬁ_ﬁ; belonged to

Options:

615475100839, 1
615475100390, 2
61547510091, 5
61547510092, 4

Question Number : 73 Question Id : 6154752586 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬂ?r{_}ﬁ_/"?’; belonged to

®» LYkl @ QLlylkt

Options:

1547510089, 1
E1547510090. 2
61547510091, 5
61547510092, 4

Question Number : 74 Question Id : 6154752587 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o | -
).-:rV fj._‘,_}l'._‘..;bf 1s a work of :
M Gt @ Gal

(3) LMW 4) AM}

Options:

61547510093, 1
61547510094 2
61547510095
61547510096, 4

Question Number : 74 Question Id : 6154752587 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

| -
,.-:*V I'j._‘_,}l'._‘_;l';l' 1s a work of :

i

(1) L,-b’ﬁ?f;d! (2) ;_::',*JLEP

3) LA 4 ;:,w;

Options:
61547510053 1

E1547510034, 2
E1547510035. 3
51547510036, 4

Question Number : 75 Question Id : 6154752588 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

L,:'(:’,..—fg 1s the u...-:"Li of :

1 SES (2) :},f’;_/.-:r
3 (b (4) &.x;{,)r;gﬁ
Options:

E1547510087. 1
615475100388, 2



E1547510033. 3
51547510100, 4

Question Number : 75 Question Id : 6154752588 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

L,;'(:’,..—fg 1s the __'}L‘ of :

o SAY @ 272

. ‘
3 Sl @ QL2
Options:

E1547510087. 1
51547510038, 2
515475100345, 3
£1547510100. 4

Question Number : 76 Question Id : 6154752589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Name of the father of }/-'7 Al s

(1) L}f.fdfuILi.f:.’f (2) ;[‘Jflfb-’{,{r
o I il s
@  JgAJU 2 @ il 2
Options:

61547510101, 1
61547510102, 2
E1547510103. 3
E1547510104. 4

Question Number : 76 Question Id : 6154752589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name of the father of }f'7 Alis -

(1) L}[JFJLF./{T (2) L;,i,fol#L?/{l'

@  gIJI 2l @ Ly 2

Options:

61547510101, 1
61547510102 2
61547510103 =
61547510104, 4

Question Number : 77 Question Id : 6154752590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The first book on Sufism written in the sub continent is ;

e
P
1 e Sl @) 5

I R “
(3) .__,i.'r_:;:) (4) A';:Ufh.'.!ﬁr

Options:
615475101051

E1547510108. 2
E1547510107. 3
51547510108, 4

Question Number : 77 Question Id : 6154752590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The first book on Sufism written in the sub continent is :

il
P TR
0 el @) P

. ;
(3) .__.fi.‘r_zz" (4) Sl

Options:

61547510105, 1
61547510106, 2
61547510107, 2
61547510108, 4



Question Number : 78 Question Id : 6154752591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o
JAP O Y isburied at :

L

‘
1 =0k Q) 42,
(3) J* 4) ¥~
Options:

E1547510103. 1
51547510110, 2
61547510111, 2
61547510112 4

Question Number : 78 Question Id : 6154752591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
t“. E'.r 5 ;
JAP O 2 1s buried at:

L

‘
1 =0k Q) 42
(3) J' @ .~
Options:

515475101051
61547510110, 2
61547510111, 3
E154751011Z2. 4

Question Number : 79 Question Id : 6154752592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot

Full name of {/ 6 cly is

P "
Q) Qg 1 @ ol
" | "
3 S I @ O lallyl
Options:

£154¥5101135. 1



E1547510114. 2
61547510115 3
61547510116, 4

Question Number : 79 Question Id : 6154752592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
» X .f

Full name of {/ Jz:z el is

v v 15
O QY @ Ol
L; r | LC
3  OJ @ O sl
Options:

515475101121
61547510114, 2
61547510115 3
61547510116, 4

Question Number : 80 Question Id : 6154752593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

;PJI'L;,[’._‘JI'FLEJ i ;3/ of-
(1) L;L—“’ ) 6;{1;,(7

) T L (4) "",fL‘L;f,:?

Options:

61547510117, 1
61547510118, 2
61547510119 =
61547510120 4

Question Number : 80 Question Id : 6154752593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



;yjfui,ﬂflf‘w was the ,.v"/ of :

a1 Sl @ AL

L]

‘_#

(3) o P

.
)
=
%
— :
A
3

Options:

61547510117, 1
61547510118 2
61547510119 =
615475101204

Question Number : 81 Question Id : 6154752594 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-

d % f;{_‘: | ~ L_;f'r{' 5 is published by

1) (S22 (2) Lﬁ:g_ﬁ'.n):;g

-

(3) /f{ﬁn)}_,:_. (4) Lﬁﬁrlﬁi.')},/:.’rﬂ)bf,

Options:

51547510121, 1
61547510122 2
61547510123 2
61547510124 4

Question Number : 81 Question Id : 6154752594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

r./’; Q'l',z' 3 1s published by
1 (GeP ek - Lfihﬁu)u:

@ Mlgiirsy @ Gk 21724

Options:
61547510121, 1
61547510122 2



E1547510123. 3
61547510124, 4

Question Number : 82 Question Id : 6154752595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

| %
.ﬁf &) Lfé was native of :
(1) J"' 2 40

(3) V'Cj" (4) :L,T/f(f

Options:

61547510125, 1
61547510126 2
61547510127, 2
1547510128 4

Question Number : 82 Question Id : 6154752595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

| .'I-.
!'.”‘,/ ) L‘?E was native of :
(1) Jf" 2) )

3 o @ sl A

Options:

61547510125, 1
61547510126 2
61547510127, 2
61547510128 4

Question Number : 83 Question Id : 6154752596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



24l s compiled by

1) 27 @ CAS

(3) fyﬁfuﬂﬁlflfwj&_/y @ S

Options:

61547510129, 1
61547510120 2
1547510121, 2
61547510122 4

Question Number : 83 Question Id : 6154752596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

24l s compiled by

1) 27 @ CAS

(3) fyﬁfuﬂﬁlflfwj&_/y @ SIS

Options:

61547510129, 1
61547510120 2
1547510121, 2
61547510122 4

Question Number : 84 Question Id : 6154752597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A2 202 is the name of :

(1) éJIF'f?¢J @ O"./b

L .t # -
@ eI @ O2la7
Options:

615475101321
61547510124, 2
61547510135 =
E1547510136. 4



Question Number : 84 Question Id : 6154752597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

L2 AP s the name of:

(1) f‘}gfﬂ'fuj @ O ./
L - 4: 'fﬂ
@ gLy @ O2l7
Options:

615475101321
61547510134, 2
E1547510135. 3
E1547510136. 4

Question Number : 85 Question Id : 6154752598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“i

; 2
A g Bk L-’ ) is 1in the form of
(1) 545“"“‘ (2) ..‘.-r}&'

3 4 2

Options:

61547510137, 1
61547510128 2
61547510139 2
61547510140 4

Question Number : 85 Question Id : 6154752598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“i

" "
e AT Pl L"’ 50 (U isin the form of
(1) 5:5‘2’. (2) .__.,}':

3 4 o

Options:
61547510137, 1
61547510138 2

61547510139, 3



E1547510140. 4

Question Number : 86 Question Id : 6154752599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

:r,&‘l: — 1 - is the pen name of

(1) upj @ G2l
@ LS @ L2024
Options:

515475101411
61547510142 2
61547510142 3
61547510144 4

Question Number : 86 Question Id : 6154752599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

:fML — 1 - is the pen name of

(1) ;fj @ Pl
3 LA @ L2802
Options:

E1547510141.1
E1547510142 2
51547510143 3
51547510144, 4

Question Number : 87 Question Id : 6154752600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
_-;L}_r,ijpf;rq’; 18 a
. I 1 !
1 J-IJ @) JetdsbF b
| . - e

@)  Jete bl 4 L

Options:



B1547510145. 1
61547510146, 2
61547510147, 3
615475101458, 4

Question Number : 87 Question Id : 6154752600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Y108 V‘jfm" is a

VHJ.JL','M
(1) (Sl (2) UK*J':L“?/;JLT'L‘
@) (S Al @)

Options:
15475101451

E154751014E. 2
51547510147, 3
515475101458, 4

Question Number : 88 Question Id : 6154752601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Author of “,-‘-«Lf}r“ 1S

. (2.8 £ C 7
1) JVO 4 2) kLl
3  ezlele @ O ¥ 4

Options:

51547510149, 1
61547510150 2
61547510151, =
61547510152 4

Question Number : 88 Question Id : 6154752601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Author of “;«L’Jr” 1s

* R o
(1) :f,.ag_;llf.u # 2) &Ll
3 ele il @ (Gl ¥ 4

Options:

61547510149, 1
61547510150 2
61547510151, =
61547510152 4

Question Number : 89 Question Id : 6154752602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= -
L}‘r SRS lr"L " ' 1is buried at :
" - 7
1) el @) bl Ll
(3) :{_,T::‘; (4) 51,&,’:1;
Options:

E1547510153. 1
61547510154, 2
61547510155 3
61547510156, 4

Question Number : 89 Question Id : 6154752602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o L7 B . .
OIA0T QO ¥ 2 is buried at :

[ /=
" . #
(1) Jl:’h.".flj'} (2) Jtrn..x,)j‘r

(3) *LT"‘; 4) :UI;J:J.;

Options:



E1547510153. 1
61547510154, 2
51547510155 3
61547510156, 4

Question Number : 90 Question Id : 6154752603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

. » - 7 I TR .”é,
2 6 s & T G/

. » “ B L 4 I -ﬁ
v O 0 g O Gbald W/

was composed by :

sk
W G20 b
.‘ -
(3) OF
Options:

61547510157, 1
61547510158, 2
E1547510159. 3
E1547510160. 4

Question Number : 90 Question Id : 6154752603 Question Type:
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MCQ Option Shuffling: No Display Question Number : Yes



was composed by :

" ¥
(1) LSM*X#L}/#L

(3) OF

Options:
15475101571

E1547510158. 2
51547510159, 3
61547510160, 4

Question Number : 91 Question Id : 6154752604 Question Type:

e
1
5

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

P’ ;P
S SkA /)

O b S
(2) e

MCQ Option Shuffling: No Display Question Number : Yes



- /| ‘
(V RO -y

e* oy s b ..«L,w(

il a9 050 ol b of

Vs :L—’J g_}'f J:L lfj} bl /|

Name of the Poet of the above verses :
@ JL @ S ph&

(3) c.:f?/:‘f 4) dt'-z‘_f._f

Options:

1547510161, 1
61547510162, 2
61547510162
61547510164, 4

Question Number : 91 Question Id : 6154752604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(V UNCL AN -y,

e* oy s b ..«L,w(

il a9 050 ol b f’

Name of the Poet of the above verses :
1 JE @ S 2

(3) uyﬁfr ) ﬁi,;ﬂ

Options:

1547510161, 1
61547510162, 2
61547510162
61547510164, 4

Question Number : 92 Question Id : 6154752605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

b G e Le A Y

[ : .
-t L X g & E g 'Jf
This couplet was composed by :
a .
1 OF @ O

3 b 4) Jﬁf



Options:

61547510165, 1
1547510166 2
1547510167, 2
61547510168, 4

Question Number : 92 Question Id : 6154752605 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LY
ot s .E:s

This couplet was composed by :

(1) Of
Options:

515475101651
61547510166, 2
E1547510167. 3
61547510168, 4

Question Number : 93 Question Id : 6154752606 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i |
O~ JI¥| tells the stories of

(1) ,-I'f:"’
3) U
Options:

E154751016%5. 1
61547510170 2
61547510171, 3
E154751017Z2. 4

: MCQ Option Shuffling : No Display Question Number : Yes

i £ -ﬁ ¥
. V4
Jf A:}J - J/ Lf!
(2) L.’:'{;l’"
(4) Jﬁf

: MCQ Option Shuffling : No Display Question Number : Yes

A

(2

)

4) ;qu"l_,»



Question Number : 93 Question Id : 6154752606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

N |
O~ JI¥| tells the stories of

1) A2 @ AF
3) U @ sl
Options:

615475101691
61547510170, 2
E1547510171. 3
E1547510172. 4

Question Number : 94 Question Id : 6154752607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

}J/-‘;' y | is buried at :

- I’.z‘f-"-

(1) J’ ) Q) o/ |

3 . 4) ¥
Options:

615475101731
61547510174, 2
61547510175 3
E154751017E. 4

Question Number : 94 Question Id : 6154752607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

17 | is buried at :

-] .;;"""
(1) J' ) Q) o/ |
3 1) LF
Options:

E1547510173.1



E1547510174. 2
61547510175 3
61547510176, 4

Question Number : 95 Question Id : 6154752608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The founder of Mongol dynasty was :

y

Qb (2) L‘,.»'L'v;f:;{"'-?:
F

(3) L:.f'l-’ul'f (4) LI,

Options:

615475101771
1547510178 2
61547510179,
61547510180 4

Question Number : 95 Question Id : 6154752608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The founder of Mongol dynasty was :

4

Qb (2) Q'L'v;f-;é'?:
2 -

(3) ;.;'L'vfl’r (4) L, £

Options:

61547510177, 1
61547510178 2
1547510179 2
1547510120 4

Question Number : 96 Question Id : 6154752609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



lf‘Lv 13 situated in the region of :

o gus @ J
@ el @ ¥
Options:

61547510181, 1
61547510182 2
E1547510183. 3
E1547510184. 4

Question Number : 96 Question Id : 6154752609 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

lf‘Lv 13 situated in the region of :

o gus @ J
@ el @ ¥
Options:

51547510181, 1
61547510182, 2
61547510182 3
61547510154, 4

Question Number : 97 Question Id : 6154752610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LA

o g-é'f' UQH:‘; wrote :

@ OkdKl @ G tPwl
| ,

(3) Lﬁﬂgf:"f 4) .fyﬁtbr

Options:

515475101851
61547510186, 2
61547510187, 3
615475101858, 4



Question Number : 97 Question Id : 6154752610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

*

O K5 rﬁgﬁ‘? wrote :

| - -,
1 QkQwl @ G AlQE
i »
(3) p@gfﬁ'f “4) Lﬁjdiﬁr
Options:

615475101851
61547510186, 2
E1547510187. 3
E15475101858. 4

Question Number : 98 Question Id : 6154752611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

66 o M f-*
Number of 4 in L’«’_Jr;il”“ * e
dy: e @ M

(3 o @

Options:

1547510189,
51547510190,
61547510191,
61547510192,

L N

Question Number : 98 Question Id : 6154752611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ol -’* . ".-*- .
Number of &% in U‘?;r;ﬁﬂr“ T

dy: e @
3 O @ M
Options:

E1547510189. 1



E1547510130. 2
51547510131, 3
615475101382, 4

Question Number : 99 Question Id : 6154752612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-
O l;' was born at :

{1} o 3P J’? {2} /U"(:I‘

3  1r @ £l
Options:

61547510193, 1

61547510194 2

615475101395 =

61547510136, 4

Question Number : 99 Question Id : 6154752612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-
O l;' was born at :

(1) 327 2 »

3  1r @ £l
Options:

61547510193, 1

61547510194 2

615475101395 =

61547510136, 4

Question Number : 100 Question Id : 6154752613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



el b K o9 gl Fbon b S

This & is from :

o Os @ Cb
3) Bl @ 27
Options:

6154751013971
61547510138, 2
615475101399, 3
E1547510200. 4

Question Number : 100 Question Id : 6154752613 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B L. # ol ! ,.«fpr L./H: J L"

- ry .

adi b K o9 gl Fbon b S

This & is from :

v O @ Cb
3  Hb @ 27
Options:

615475101371
615475101358, 2
E154751013949. 3
E1547510200. 4



Question Number : 101 Question Id : 6154752614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
-

By 'U/J was the ,C-'-'/H of :
W G20 @ Blboly

(3) Lfl_:L‘U}" (4) L;;J;_:,L‘JULLEIJU}"
Options:

61547510201, 1

61547510202 2

61547510203 2

61547510204, 4

Question Number : 101 Question Id : 6154752614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
&

& L]

B uflﬂ was the ,A:"-‘/f" of :

Q) G20 @ Bbols
"”*'I fo i ! j
3 ety @ O kely
Options:

61547510201, 1
E154751020Z. 2
E1547510203. 3
B1547510204. 4

Question Number : 102 Question Id ;: 6154752615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Full name of {_EJLFL}'W 1S
(1) L}iAJrr‘U.’j (2) .-;_:,E,AJfL,'Lf

@ Al @ I



Options:

61547510205, 1
61547510206 2
E1547510207. 2
61547510208, 4

Question Number : 102 Question Id : 6154752615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Full name of LEJLJQL}/ 1S

(1) L}i,ull'r‘w (2) L}E.#‘*lrLJL‘(
3 LA @ L ULF.
Options:

61547510205, 1
E1547510206. 2
E1547510207. 3
61547510208, 4

Question Number : 103 Question 1d : 6154752616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

- T
A8Uz23, by Obo/ %1% has:

1 =AU - @ =B - A
@ et @ el -ty
Options:

E1547510203. 1
B1547510210. 2
61547510211, 3
E154751021%2. 4

Question Number : 103 Question 1d : 6154752616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



- T
A8 223, by Obos £1¥ has:

1 =M @ U -IA
3 =W @ =l -rr
Options:

615475102091
61547510210, 2
E1547510211. 3
B154751021%2. 4

Question Number : 104 Question Id : 6154752617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 | "’f:--" t"“.
e L'J,»-‘?"f 1S a LS i composed by :
"1 i’f o
(1) u&d-f @ Ow/ £y

3 Gl AGwe @ Gl

Options:

615475102131
61547510214 2
61547510215 2
61547510216, 4

Question Number : 104 Question Id : 6154752617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 | =T t.:.
o L'_f"f 1s a LS i composed by :
"1 i"f -
(1) u&d-f @2 Qw/ (§ LIy

3 Gl A @ Gslbg¥

Options:

61547510213, 1
61547510214 2
61547510215 =
61547510216, 4



Question Number : 105 Question Id : 6154752618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

7 &

ot 3 Y isaworkby:
. o
1) Okl (2) UWK/’!

3 Gy @ Q66

Options:

61547510217, 1
61547510218 2
£1547510219. 2
61547510220, 4

Question Number : 105 Question Id : 6154752618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7 &

v/ /Y isaworkby:

.‘-1

1) Obla¥ (2) L‘}m’,};

@ Sy (4) 5[5'15

Options:

615475102171
61547510218, 2
61547510219 2
615475102204

Question Number : 106 Question Id : 6154752619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=l of 92 described by Attar are :

(1) 5 2) 6
(3) ) 4 8
Options:

61547510221, 1
G1547510222 2
E1547510223. 3
BE1547510224. 4



Question Number : 106 Question Id : 6154752619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s of 29 deseribed by Attar are :

(1) 5 (2) 6
(3) 7 4) 8
Options:

61547510221, 1
B1547510222. 2
BE1547510223. 3
B1547510224. 4

Question Number : 107 Question Id ;: 6154752620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

This couplet about Saadi is by

i

a B @ Ob
. [
3 37 @ Of
Options:

615475102251
E1547510226. 2
E1547510227. 3
E1547510225. 4

Question Number : 107 Question Id : 6154752620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



This couplet about Saadi is by

i

(1) Bl (2) {_;L?
. [
3 27 @ QlF
Options:

BE1547510225. 1
B1547510226. 2
B1547510227. 3
E1547510228. 4

Question Number : 108 Question Id : 6154752621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

,-..r‘L/) of LEJ,-':VEAMH-J; is the history of :
a5
a b (2) ._,GJ;“'-

(3) d;;}*:rﬁ 4) s,c:f,&:::[ff

Options:

61547510229, 1
615475102200 2
61547510221,
61547510232 4

Question Number : 108 Question Id : 6154752621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



JL/y of LEJ{VLAJ“.J; is the history of :
= -
a1 I (2) ._,GJ;“;

(3) dj;};r"' ) mm?@r

Options:

61547510229, 1
61547510220 2
61547510231, 2
61547510232 4

Question Number : 109 Question Id : 6154752622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

£ S . . .
U= 44| is a Persian version of :

p »
Q Lf..".f,_;-’L-:/ 2 €

3 - F
@ =)y @ |

-l

o
[} 4

Options:

61547510233, 1
61547510224 2
E1547510235 2
61547510226, 4

Question Number : 109 Question Id : 6154752622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Q= JI#] is a Persian version of :

P ol
Q / L/..".aa_,-’L-:-"( @ ©b

7z

@ 2~ sy 4 |

o
[}



Options:

61547510233, 1
61547510224 2
E1547510235 2
61547510226, 4

Question Number : 110 Question Id : 6154752623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

L?',l,-;#!‘f!d)"'/ s AL are:
@ G

& Ciscl

(c) L,Sf,.?r;;;jy;r

(d) Lg:,h

Choose the right option

(1) (a) + (b) + (c) (2)  (b)+ (e) +(d)
(3) (e) +(d) + (a) (4) (a)+(c)+ (d)
Options:

BE1547510237. 1
61547510238, 2
61547510239, 3
E1547510240. 4

Question Number : 110 Question Id : 6154752623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



d&gﬁ}d)pm:@vﬁ' are :
(a) (S

& Ok

(c) Lﬁfﬁf}f(ﬁy:f

(d) {_?.m

Choose the right option

(1) (a) + (b) + (c) (2) (b)+(e)+ (d)
(3) (c) + (d) + (a) (4) (a)+(c) +(d)
Options:

BE1547510237. 1
61547510238, 2
61547510235, 3
E1547510240. 4

Question Number : 111 Question Id : 6154752624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The books of & ;-J e
@ Ualls/ &
(b)y 7 ¥1 Al
© AL

. i
(d) *.,.-ijf.:.n'”

Choose the correct option

(1) (a) +(b) + (c) (2) (b)+(c) +(d)
(3) (a) + (b) + (d) (4) (a)+(c)+(d)
Options:

61547510241, 1
E1547510242. 2
B1547510243. 3
B1547510244. 4

Question Number : 111 Question 1d : 6154752624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



The books of & ;-J e
@ Ualls/ &
(b)y 7 ¥1 Al
© AL

. i
(d) *.,.-ijf.:.n'”

Choose the correct option

(1) (a) +(b) + (c) (2) (b)+(c) +(d)
(3) (a) + (b) + (d) (4) (a)+(c)+(d)
Options:

61547510241, 1
E1547510242. 2
B1547510243. 3
B1547510244. 4

Question Number : 112 Question 1d : 6154752625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



4 of il dIPbe & are
(a) LEL""

(b) Lf;’fc)]

) 3, 21

(d) L.E’,.

Choose the correct option

(1) (a) & (d) (2) (b) & ()
(3) (c) & (d) 4 (b)) &(d)
Options:

615475102451
E154751024E. 2
E1547510247. 3
51547510248, 4

Question Number : 112 Question Id ;: 6154752625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



4 of il dIPbe & are
(a) LEL""

(b) Lf;’fc)]

) 3, 21

(d) L.E’,.

Choose the correct option

(1) (a) & (d) (2) (b) & ()
(3) (c) & (d) 4 (b)) &(d)
Options:

615475102451
E154751024E. 2
E1547510247. 3
51547510248, 4

Question Number : 113 Question Id ;: 6154752626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A
.,
G
"G
M~
S
XD

(a) urﬁl”:.-gj
(b) :.-rb»‘uf::;;‘f
© CEIFTL

(d) Jf;bﬂ/:’

Choose the correct option

(1) (a) & (b) (2) (a) & (c)
(3) (b) & (c) 4 (o) &(d)
Options:

515475102451
61547510250, 2
61547510251, 3
61547510252, 4

Question Number : 113 Question Id : 6154752626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A
.,
G
"G
M~
S
XD

(a) urﬁl”:.-gj
(b) :.-rb»‘uf::;;‘f
© CEIFTL

(d) Jf;bﬂ/:’

Choose the correct option

(1) (a) & (b) (2) (a) & (c)
(3) (b) & (c) 4 (o) &(d)
Options:

515475102451
61547510250, 2
61547510251, 3
61547510252, 4

Question Number : 114 Question Id : 6154752627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-_"-JL‘WLS” « 13 a book of
(a) J,L:*I'
b
(c) o/ &

@ &

Choose the correct option

(1) (a) + (b) (2) (b) +(e)
(3) (a) + (c) (4) (e)+(d)
Options:

615475102531
61547510254, 2
E1547510255. 3
E1547510256. 4

Question Number : 114 Question Id : 6154752627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-_"-JL‘WLS” « 13 a book of
(a) J,L:*I'
b
(c) o/ &

@ &

Choose the correct option

(1) (a) + (b) (2) (b) +(e)
(3) (a) + (c) (4) (e)+(d)
Options:

615475102531
61547510254, 2
E1547510255. 3
E1547510256. 4

Question Number : 115 Question Id : 6154752628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Amir Khusrow composed the following Diwans in chronological order.

Choose the correct option :

@ Pzl F 2 el b s ) 5F
@  JHnlid 3P 5 2 s

®  IPzbid Bttt 25 S 5

@ Pz p el 2158 5 3

Options:
£1547510257.

E1547510258.
E1547510259.
B1547510260,

[ N S

Question Number : 115 Question Id ;: 6154752628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Amir Khusrow composed the following Diwans in chronological order.

Choose the correct option :

(1) Jtﬂfé‘:%’-éﬂ—ﬁ-JLﬁf?}.;grm,Mﬁ?
® Wizl d2 25
(3) U'Lﬁfﬁiu'a—.?»—:g-’-*gfﬁ’ﬁﬂf‘:‘”fﬁ;rdmfﬁ

(4) L,'Lpf:;;u-dtpf?/;-aﬁf,b»;-,_/ié’)f:i;-,?._?

Options:
61547510257, 1
61547510258, 2



E1547510259. 3
B1547510260. 4

Question Number : 116 Question Id ;: 6154752629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Mughal Kings ruled in the following order :

&

4 7 A 7 . £
@ Aplagikm flaal @ ceakaotelabt Lo Ll

-

a : p . Z .t
(3) /".LLg’Z'-‘:t*LJl/ﬂ:‘ww._-ﬂ;J 2 (4) _a‘:g*u[l/ﬂ:‘b*h-_{;-x J}r'/;bLg:’:

Options:

61547510261, 1
61547510262 2
61547510262 2
61547510264, 4

Question Number : 116 Question Id : 6154752629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mughal Kings ruled in the following order :

7

; R - 7 s o
1) /’-dkﬂab-%i-ﬁﬁh/ékﬂ-ﬂ, ) ﬁ;-fx}r-@!l/_ﬂ:b-ﬁk’b”.-/f{fu{{/

-

4 . Z . 7 #“
(3) /.'.L' Lﬁf- A L*{Jlf_ﬁ!w-h-_-{:;._k M2l (4) _J‘:L*L}[Lﬂ: b*h—_-«:;J JJF./;" L;:

Options:

61547510261, 1
61547510262 2
61547510263 2
61547510264 4

Question Number : 117 Question Id : 6154752630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Nizami Ganjavi composed the mathnavis in chronological order.

Choose the correct option :

(1) ,..f*t’J,J{’f-/g:;ﬁﬁ-d,éﬁ-uﬂ#f}/}ufﬁﬂfdﬁ
(2) Jf/Ufgf;';-uf,ﬁ:/-}bd%ubj-gﬁ-.ﬂL‘Ji&f

x B4 - . . | "
(3) {_:,[',j}/-’-.xL';WF-JI/UI{;J%;;J:"{UL:-EW

(4) L}EF’E},{#}'JLHU]CJ%*#‘EJ&[*&W-C);{O{

Options:

61547510265, 1
61547510266 2
61547510267, 2
1547510268 4

Question Number : 117 Question Id : 6154752630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Nizami Ganjavi composed the mathnavis in chronological order.

Choose the correct option :

(1) ,..fl:J,Jf’f-&;ﬁﬁ-dfﬁ-{;ﬂf}/}ulgﬂm}%

(2) J/Ufgf;';-.:,f,ﬁjfﬁ-d%ubj-g&w;L‘J,»i*'if
= . , - . .‘5’ L jﬁ i

@ Lt bl UG F S Quiste e

(4) L;f,gé}},i-;fﬁllfg)ﬁ..»hﬁﬂ-}.@&ﬁﬁ-dfﬁ

Options:
61547510265, 1



E1547510266. 2
B1547510267. 3
61547510268, 4

Question Number : 118 Question 1d : 6154752631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one is labeled as Assertion (A) and the other is labeled
as Reason (R).

Assertion (A) T4 Ujf;i,dflf@:.-_ﬁjc.b{/-]

L

-

Reason (R) Y ;}f}{,{,wl'{_;if ?ré: 43
In the light of the above two statements, which one of the following is correct?

(1) Both (A) and (R) are true but (R) is not correct explanation
(2) Both (A) and (R) are false

(3) Both (A) and (R) are true but Assertion is not correct
(4) Both statements (A) and (R) are not based on the standard sources
Options:

61547510269, 1
61547510270, 2
E1547510271. 3
B1547510272. 4

Question Number : 118 Question Id : 6154752631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one is labeled as Assertion (A) and the other 1s labeled
as Reason (R).

Assertion (A) : X yjfui,ﬂflr‘@ :.-/47:.9:? }/-‘5'

Reason (R) IV le:wafdf_Ffé:.a:
In the light of the above two statements, which one of the following is correct?

(1) Both (A) and (R) are true but (R) is not correct explanation
(2) Both (A) and (R) are false
(3) Both (A) and (R) are true but Assertion is not correct

(4) Both statements (A) and (R) are not based on the standard sources

Options:

51547510269,
61547510270,
61547510271,
1547510272,

[ N Y

Question Number : 119 Question 1d : 6154752632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements. one i1s labeled as Assertion (A) and the other 1s labeled
as Reason (R).

Assertion (A) £l UL” —-:U-‘r:' ALQJU[" %

s ;
Reason (R) S} #3154 L_,»r.xf/.fbf}f
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true

(2) Assertion (A) 1s correct but Reason (R) 1s not confirmed
(3) Both Assertion (A) and Reason (R) are not correct

(4) Both Assertion (A) and Reason (R) 1s false

Options:
61547510273, 1
61547510274 2

B1547510275. 3



B1547510276. 4

Question Number : 119 Question Id : 6154752632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements. one is labeled as Assertion (A) and the other is labeled
as Reason (R).

Lo
S [

, 5
Assertion (A) : A4L. L,,}" ,.:.«{_',a': L l}l-"/ﬁ

e S
Reason (R) . Mo Jx 2

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true

(2) Assertion (A) 1s correct but Reason (R) 1s not confirmed
(3) Both Assertion (A) and Reason (R) are not correct

(4) Both Assertion (A) and Reason (R) 1s false

Options:

615475102731
61547510274 2
61547510275 2
61547510276, 4

Question Number : 120 Question Id : 6154752633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"y /:" ..‘.JLEJ.’ took place during

(1) U}PJE,JJJ (2) JL_?L?EJJ'J

: - W
(3) L,_,I:‘ * ) (4) A i2)8)
Options:

E1547510277. 1
BE1547510278. 2
B1547510275. 3
61547510280, 4

Question Number : 120 Question Id : 6154752633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) U!f;‘:i;}‘ (2) JL"E;:J.’J

: - W
(3) L_,I:' v} (4) o Ah 22
Options:

B1547510277. 1
BE1547510278. 2
B1547510273. 3
61547510280, 4

Question Number : 121 Question 1d : 6154752634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

L}[r{f{,; U"'rn.‘.-lzgjf took place in

(1) 1959 (2) 1969
(3) 1979 (4) 1989
Options:

E1547510281. 1
B1547510282. 2
61547510283, 3
61547510254, 4

Question Number : 121 Question Id : 6154752634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

L}[r{fL.; U‘"r-.‘--b‘sjf took place in

(1) 1959 (2) 1969
(3) 1979 (4) 1989
Options:

51547510281, 1
G1547510282. 2
E1547510283. 3
61547510254, 4

Question Number : 122 Question Id : 6154752635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



L,qw‘?rg_}r? belongs to

ol .I oy -i -
(1) UJ’;?"!J}J (2) QO
s i - i I/
(3) LS.Jl:‘?lHJ}J (4) L}U-”f._‘..-,l,waur:-’yj:
Options:

B1547510285. 1
61547510286, 2
E1547510287. 3
61547510288, 4

Question Number : 122 Question Id : 6154752635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

L,:wfrg}r? belongs to

28 o i
(1) U}';?’!J}J (2) ui':/:,a}.!
HJ ’ .-i. i IJ
(3) LE.JL?L"!JJJ (4) L}U""rw_‘-lfwr;ru'-'y}!
Options:

E1547510285. 1
B1547510286. 2
B1547510287. 3
E1547510288. 4

Question Number : 123 Question Id : 6154752636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

14l was assassinated in :

(1) 1012 A H. (2) 1013 A.H.
(3) 1011 A.H. (4) 1014 A.H.
Options:

61547510289, 1
61547510230, 2
61547510231, 3
E1547510232. 4

Question Number : 123 Question Id : 6154752636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



P

/ 14l was assassinated in :

(1) 1012 A H. (2) 1013 A.H.
(3) 1011 A.H. (4) 1014 A H.
Options:

61547510289, 1
E1547510230. 2
E1547510231. 3
B1547510232. 4

Question Number : 124 Question Id ;: 6154752637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oy S , : :
(3 'L-’“LSFJ | lr" lié,.a " isa history written by :

(1) J’“h—rg-‘-#rir! (2) L:r;‘&ﬁ

-

- = - - b
(3) LEM rfmﬂ"f @ "

Options:

61547510293, 1
61547510294 2
61547510295, 5
61547510296 4

Question Number : 124 Question Id : 6154752637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S S , : :
& _L’LEFJ f & lié,.a " is a history written by :

(1) JM«_«Q._‘JA: (2) L:/.Lﬁ

&¢ 4 - -
(3) L,,‘M«..«ggﬁf @ b

Options:

61547510293, 1
61547510294 2
615475102395 2
1547510296 4

Question Number : 125 Question Id : 6154752638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



bl
= 27128 was the contemporary of :

. v o . r .
(1) JFL,PJ’L;[‘JI'E,.« (2) éLbJ’u;{r,;rf
Z
o b
(3) /;,’w} OEA (4) {_;I';fl*'L-l'
Options:

61547510257, 1
61547510238, 2
E1547510239. 3
E1547510200. 4

Question Number : 125 Question Id : 6154752638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

sl
= 27128 was the contemporary of :

(1) QFL,PJ’L;[‘JI'QU (2) u’be'J’u;{r,.;r?
.
- b
(3) /;,’w} OEA (4) {_;I';fl*'L-l'
Options:

B1547510297. 1
61547510238, 2
615475102349, 3
61547510200, 4

Question Number : 126 Question Id : 6154752639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

L
[

ois 2
G V0" diedin

(1) 1010 A.H. (Z) 999AH
(3) 1011 A H. (4) 1004 A H.
Options:

61547510201, 1
61547510302, 2
E1547510203. 3
E1547510204. 4

Question Number : 126 Question Id : 6154752639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



L
[

Siv @
U V0" diedin

(1) 1010 A.H. (2) 999 AH.
(3) 1011 A.H. (4) 1004 A H.
Options:

£1547510201. 1
E154751020Z. 2
E1547510203. 3
51547510204, 4

Question Number : 127 Question Id ;: 6154752640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mangols invaded Iran in :

5 B
1y SEL @ CFL

¥ o
@ AU @ GAL

Options:
615475103051

E1547510206. 2
E1547510207. 3
51547510208, 4

Question Number : 127 Question Id ;: 6154752640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mangols invaded Iran in :

o AL @ GFL

v =2
@ AU @ CFL

Options:

61547510205, 1
615475102306 2
61547510307, 2
61547510208, 4

Question Number : 128 Question 1d : 6154752641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) 7 | 2 71l (2) |'J;'Qr/’v'r}f
@ rrd N @ | JJ
Options:

615475102091
61547510210, 2
E1547510211. 2
E1547510212. 4

Question Number : 128 Question Id : 6154752641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

&
LE;}/‘ oV I.“--ﬁ belongs to

1 Lg:;a'} 713l (2) l-”-i;__‘_,;' /"' Jr;r
@ ¥ L._;f)']r;r @ | ur}}'
Options:

61547510209, 1
61547510310, 2
E1547510211. 2
B1547510212. 4

Question Number : 129 Question Id ;: 6154752642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

.
Ol F belongs to

e

y )
1) Obbis 2) OF w2
3 b @ G4
Options:

E1547510213. 1
51547510214, 2
61547510215 3
61547510216, 4



Question Number : 129 Question Id : 6154752642 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

tﬂ-""H
OIF belongs to

LT a
(1) OLF'L’EJJJ (2) Lblé'vi)}}

3 Gl @ 45

Options:

61547510213, 1
61547510314 2
61547510215 =
61547510216 4

Question Number : 130 Question Id : 6154752643 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the following :

@ O/ @ e

b (i1) :.-:Lt/d_[f/i

| * .'f*...
e Ol i) allls/

2 ol 5
@ o4 (iv) bl

(1) (a) (1v), (b) (111). (e) (11). (d) (1)
(2) (a) (1), (b) (11), (¢) (1), (d) (1v)
(3) (a) (iii), (b) (), () (iv), (d) (ii)
(4) (a) (111). (b) (11). (c) (av). (d) (1)

Options:

61547510217, 1
1547510218 2
61547510219,
61547510320 4

Question Number : 130 Question Id : 6154752643 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Yes

tYes

Yes



Match the following :

@ U2/ @ b
by s i) b Sla

| * .'/'...
@ QO i) Uallfs/

ol g
@ o1 iv) bl

(1) (a) (1v), (b) (111). (c) (11). (d) (1)
(2) (a) (111), (b) (11). (e) (1), (d) (1v)
(3) (a) (1i1). (b) (). (¢) (iv). (d) (1)
(4) (a) (111), (b) (11), (e) (1v), (d) (1)

Options:

E1547510=217. 1

L15475103218. 2

61547510215, 3
615475102320, 4

Question Number : 131 Question 1d : 6154752644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Lf? le*  is entitled as
L) @ |22

@ 1A~V @ 127

Options:

61547510321, 1
61547510322 2
1547510222 2
61547510224, 4

Question Number : 131 Question Id : 6154752644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



’ i
(O W is entitled as

1)  #2E) 2) f;;:"’FJ'._,@
&

® 12V @ |27

Options:

E15475102321. 1
B1547510322. 2
B1547510323. 3
615475102324, 4

Question Number : 132 Question 1d : 6154752645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

8.7 A | has wrongly been said to meet

Q2B @ 28w

Z | e
(3) LE{:;-L}‘ (4) u-“ S8
Options:

615475103251
E1547510326. 2
E1547510327. 3
E154751023258. 4

Question Number : 132 Question Id : 6154752645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

8 2" | has wrongly been said to meet

Q G 2Bb @ Gl 2E

2 g » FF ” :
(3) LS{J; ®] @ ¢ Jr8
Options:

5154751023251
61547510326, 2
G1547510327. 3
615475103258, 4



Question Number : 133 Question Id : 6154752646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
-

d O
v O is a disciple of

-
L]
-

¥ 15

1 LA (2) &:uu’,;ﬂﬂﬁ.‘”u
(3) AP0 4 O £y

Options:

61547510329, 1

61547510330, 2

61547510331, 3

61547510332, 4

Question Number : 133 Question 1d : 6154752646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
-

s
¥ O is a disciple of

1 L (2) if:ﬁbiuiﬂ ’/:."5
t-“ L; f::y .
(3) .‘«u\wul,,_,h?i'_II 4 - f“”
Options:
L1547510=229. 1
E1E475102=0. 2
E1E475102=21. 2
E1547510252. 4

Question Number : 134 Question Id : 6154752647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-

LV rfi{":* is buried at :
s
QO O @ YLk s

3 Jiks# @ Jbb0l -

Options:



E1547510233. 1
61547510224, 2
515475102335 3
61547510336, 4

Question Number : 134 Question 1d : 6154752647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

L ]

yiom, I';Q-:* 1s buried at :
| .
1 Qi (2) yjfg_;f,,.u'fr‘&/’eb/;:

@ Jiksi @ JbLEQI~

Options:

61547510333, 1
61547510334 2
1547510235 2
15475102326 4

Question Number : 135 Question Id : 6154752648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-

i

p
A0 }b of - 1s atranslation of

G

(1) f/“::

el il
i

(3) O«

N
£
ﬁ‘:‘m
¢
A
RN

Options:

61547510337, 1
615475102328 2
61547510229, 5
61547510240 4

Question Number : 135 Question Id : 6154752648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o B oy
A0 }b of 0. 1s atranslation of

(1) fﬁé’ @ et
e - Z "
@ el @ / LJ._*'./,-'L-f"(

Options:

15475102371
15475102328 2
61547510229,
61547510240 4

Question Number : 136 Question Id : 6154752649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

P

;_5)‘“] Vr}ﬁ”a:f' belongs to :
1) B2 @) yrlo

(3) w2 (4) ,._f/::y

Options:

61547510341, 1
61547510242 2
61547510242 5
61547510244 4

Question Number : 136 Question Id : 6154752649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

##

*‘T)V Vr,!ﬁ”a:-"' belongs to :
1) B @ gale%

(3) w2 (4) ,._f/::y

Options:
61547510241, 1
61547510242 2



E1547510243. 3
61547510244, 4

Question Number : 137 Question Id ;: 6154752650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i-‘ i
U};E',/‘Jr!:r was contemporary of :

(1) ;_;'L'L’w::"/ 2) J’J/LEL)

L

(3) dbj;f;[,_b'f; @ ¢=J 1

Options:

61547510345, 1
1547510246 2
61547510247, 5
61547510248, 4

Question Number : 137 Question Id : 6154752650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

t‘ i
U}JE',/‘JHIF was contemporary of :

O I @ G0

(3) dg;f;_;[,,u'f; @ O=J 14

Options:

51547510245, 1
615475103246 2
E1547510247. 2
61547510248, 4

Question Number : 138 Question Id : 6154752651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



LS P b [E-!’ was composed by
.- - 5 e
(1) ;:_y_/ @) E,,f,f-’{:/[f.f'{:« ‘

. " .
(3) L;lbdy @) e 2l

Options:

61547510249, 1
61547510350 2
61547510351, =
61547510352 4

Question Number : 138 Question 1d : 6154752651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ls - [3:” was composed by

(1) u—«/ @ Al
% i) .

(3) Li"lbu..‘f @ =l

Options:

615475102451
61547510350, 2
61547510351, 3
E1547510352. 4

Question Number : 139 Question Id : 6154752652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

¢ Lb/blf‘: ‘Jr A% was the son of
® ek @ b

r-
(3) c)l}l-*‘/:. @ IO

Options:
15475103521

E1547510354. 2
51547510355, 3
51547510356, 4



Question Number : 139 Question Id : 6154752652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

¢ LL{L?lf‘f ;Jr A% was the son of
m bk @ b

v
@ Jers @ JLAI0

Options:

61547510353, 1
61547510354 2
61547510355 2
15475103256 4

Question Number : 140 Question Id : 6154752653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

J'l:-’u | l:-’r was composed by :

© Gl 2) d}f’:&ﬁ&grg

=

r
3) kbl @ Oy

Options:

61547510357, 1
61547510358 2
61547510359 2
61547510360, 4

Question Number : 140 Question Id : 6154752653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

J'L:?U | L?r was composed by :

o  Gsds & Gk {fiu

o

7 r
(3) a..-{-; /:U:I'Jf @ QANis

Options:
£1547510357. 1

E1547510358. 2
E15475102359. 3



E1547510260. 4

Sub-Section Number: 2
Sub-Section 1d: 615475117
Question Shuffling Allowed : Yes

Question Id : 6154752654 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension

91-95

- . ’ - i e * X ?/’ v -
e - ’:l’[bL:‘;r jf,flj-ﬁpu'yf{frfif}f/ I e f:g’LJ}"béL /1308 25 L/h_,

& e e L L R e s o
}/FéJb'J)!JL’ﬁ:-“f‘_w”f 3y .'!;'7..4!;/5&}"’/115)[5 ,...:; g K.».r"';d&&-ff’:;)d; }J}y_; L‘; J

urf/rjl-J'dJ—waJ/ ‘/':. LV/LSrUL/f Lﬂ‘t_,r {Q,&faiudﬁc f:f, {'J’U JL'f-_-rJF

-
e -

. 'f 2, B v - ..'/,, . 2 “ = iy [ =
34 .Y L UL‘L&:{’J]:JL’JJ!LEJ..JI ntS A“chiﬁlézt',:w’f:ﬁ&.’:lb'ub,.:;:.JJU It Uf/ﬂ'—"fu’ ~

-

7 - ::.. . - o . ™ | - - o
!J!‘bjfdﬂl}‘)*gry ;):."JL';UJJ}'!JL'{:JL’J'U JL-—-‘J’U | S :Mplfhl';:ullfzg'}J::«,:'!,'...';ff

P ¢ i - Fo e . o _""/n-"
Jﬁ’ua’flf;hf}}{_}l/’ﬂ}'f);w:f &l

Sub questions

Question Number : 141 Question Id : 6154752655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- 4 f...»;,w was written 1in

(1) |’P*’)-'5CJ; (2) lf:if,ud}

(3) |(J2’:’:L:‘J/? 4) l/z’:j!';';

Options:

61547510361, 1
61547510362 2
61547510262 5
61547510264, 4

Question Number : 142 Question Id : 6154752656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Significant contribution of India is to

N I L el @ (kT

(3) l-ﬂ'yi"é,al,ud;f*f @) é’},‘:ﬁf

Options:

51547510365, 1
61547510366, 2
61547510367, 2
615475103268 4

Question Number : 143 Question Id : 6154752657 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Significant contribution of India is in the field of

(1) LELJEF @2 (5.6 ~

il o :
3) (kA @) (Sads/
Options:

61547510265, 1
61547510370, 2
61547510371, 3
E15475102372. 4

Question Number : 144 Question Id : 6154752658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

& 9ty
The first rj'-’ "/ A& was written in

(1) A (2) ;_;,'f,{l'
3  JUB @ gt
Options:

615475103721
61547510374, 2
E15475102375. 3



BE15475102376. 4

Question Number : 145 Question Id : 6154752659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

India has contributed more to the development of Persian during

(1) f}ifﬂ&fﬁ:d}ﬂ (2) |f’;!'.d/?

® AJ) @ )

Options:

61547510377, 1
61547510378 2
1547510279 2
61547510280, 4

Question Id : 6154752654 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension

91-95

3
-
[

L2 2t ELT 5 Al 731 NS s sa G375l 35 UST”

-

y S

ok LAl 3 " T g T
}'/f“"éJL'-"J)!JL",Fl-“f‘_#’P 1)/ .'!}7..4!‘;/5u}"¢bub ,..;d A2 }C/Ig Ny {:J;:'}J)bﬂu ot

V':J,,I'j._!"ﬂ._,[,ﬁ/vf/ ‘/":. LV(LETULA L‘g_,r Lf Mf'ﬁUdLﬂf‘pﬁ;‘f’: J.Jrl_, an-.-.’r

@

(e

£ 3 Py s b Pt 4 I 5
34 .Y 2 UL‘{:&{_I’J’:JL’JJ}L;{J!J e J'L;Ciﬁ é)b’;&’f&ﬁ&.ﬁlb’ubgﬂu It le/’/!‘f ~

; - .f ::.‘ , 'y - i - LJ i ' ™ | ; &
:::"l;g_fo_,ly)u"w ;-):,'.JQUJJ}:JFI:JL’;'U JL‘\-.-FJIU fjr//j,q”.lf};r}:uflfj |/3J :/::"n.".-»ff
.’fi- L & o] o T _"‘/t“
Jﬁ:'-_«a’flf‘ﬂhlﬂwlafﬂ,?(if;;wa f |
Sub questions

Question Number : 141 Question Id : 6154752655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



b f__,::ﬂf' was written in

(1) l/”;/*:u)/" @ A 3l

@ ek} @ i}

Options:

61547510361, 1
61547510362 2
61547510262 5
61547510264, 4

Question Number : 142 Question Id ;: 6154752656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Significant contribution of India is to

1 < @ Gkl

(3) r’uéig.ijdi E*T (4) é’}?JE"T

Options:

1547510265, 1
61547510366, 2
61547510367, 2
61547510368, 4

Question Number : 143 Question 1d : 6154752657 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Significant contribution of India is in the field of

(1) L,J'JE*' @ (5.6 ~

R T T
3 (A @) (Sads/
Options:

51547510269, 1
615475102370, 2
61547510371, 3



B15475102372. 4

Question Number : 144 Question Id : 6154752658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The first | 2%/ £ was written in

&

(1) A (2) ;_‘,'f_::l'

@ JUB @ gt

Options:
615475103731

E15475102374. 2
E15475102375. 3
B15475102376. 4

Question Number : 145 Question Id ;: 6154752659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

India has contributed more to the development of Persian during

; | y i K % e
(1) l.f;jl';;g_jl'l.»‘ﬁ:d/}f (2) |"3!JLL}|,;
@& e’ 4) lﬁ:df

Options:

E1547510377. 1
61547510378, 2
E15475102373. 3
E1547510280. 4

Sub-Section Number: 3
Sub-Section Id: 615475118
Question Shuffling Allowed : Yes

Question Id : 6154752660 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension



96-100
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el L 8L EACN A ar LIS sl sl G4 7 sl S st 2738 3o
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Sub questions

Question Number : 146 Question Id : 6154752661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The author of 1:,}01 | .."‘.-rL'a'f& is :
(1) ‘.SJ-?':L:‘:'*;LEL/J!GLN; (2) JJ’L""UL/’\)]

(3) LSJ;;L:/:EI-_-':JF (4) LjJ;:L:‘gL;/J

Options:
615475103511

E1547510382. 2
BE1547510383. 3
51547510284, 4

Question Number : 147 Question 1d : 6154752662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U‘JLAJ' o] A* ¥ has translated the Arabic book of Mohd. bin Husain Sullami into Haravi

language :

a ey @ Asll=5
(3) _j.ﬁjf;&?) @ Azalllzs
Options:

515475102385, 1



E1547510386. 2
B15475102387. 3
61547510288, 4

Question Number : 148 Question 1d : 6154752663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

» - .
& L?L‘,' LF,.J || 4% has translated Tabagatus Sufiya at the instance of :

' 5 L] | = W
(1) N7 ¥y @2 Ol z0 £l
: W .3
@) =LA @ Olpedl?
Options:

61547510389, 1
61547510330, 2
E154751023391. 3
E154751023392. 4

Question Number : 149 Question Id : 6154752664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

;_f f r.:.-L}"J has the desecription of :

(1) L}r!;&ﬁ}ﬁ;# (2) Qr:j}*;f
(3) {_‘,fr::!;}',!,.wy (4) {_pr»:.‘.«-f:t!:ﬁ?

Options:

61547510293, 1
61547510294, 2
61547510295 =
61547510396 4

Question Number : 150 Question Id : 6154752665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(5.! )"Jr.v-” 'r,blfi,_,e J was a pupil of

1 A @ Sl
(3) L?l_:u‘i)f.gf @ St o1y
Options:

E15475102397. 1
E154751023398. 2
6154751023595, 3
61547510400, 4

Question Id : 6154752660 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label @ Comprehension

96-100
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el L8 EACN P at LIS sl sl A7 sl S st 7758 3o
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Sub questions

Question Number : 146 Question Id : 6154752661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The author of J}Jf:.ﬂfx-r’" is
w4 K s o SAEGES

3 G @ S )

Options:

615475102381, 1
61547510382, 2
61547510383 2
61547510284 4

Question Number : 147 Question Id : 6154752662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LE;L‘Jf W] A ,...g'f? has translated the Arabic book of Mohd. bin Husain Sullami into Haravi

language :

Q) el @) Aill=5
O L [ 4 @ Asllss
Options:

515475102385, 1
61547510386, 2
61547510387, 3
E15475103858. 4

Question Number : 148 Question Id : 6154752663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

» .
) L'WJLF) | 4* has translated Tabagatus Sufiya at the instance of :

| - 3 - ¥
1) N7 F ey @ I z0 21
; N %
@ IS @ Olpedl?
Options:

E1547510289. 1
615475102330, 2
515475102381, 3
E154751033Z2. 4



Question Number : 149 Question Id : 6154752664 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

J! |';_,L§J has the description of :

1) J 2 @) (S 4
(3) (i @) (S edae”

Options:
£1547510353 1

E1547510334. 2
E15475103395. 3
B1547510396. 4

Question Number : 150 Question Id : 6154752665 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Lj.alj J}wr MUL,J rUHJ was a pupil of

1 s (2) .-J’ LIS
(3) Lf_bﬂ?)f.gf (4) dgu?r,;ﬁrg,fr?
Options:

B15475102397. 1
615475102388, 2
6154751033949, 3
61547510400, 4

Yes

Yes



